KANSAS STATE UNIVERSITY Division of Financial Services / Purchasing 21 Anderson Hall Manhattan, KS 66506

March 13, 2013

Contract No. 40293

ADDENDUM NO. 1

ITEM: Steam Traps & Gaskets

DEPARTMENT: KSU – Facilities

CONDITIONS OF ADDENDUM:

Effective 6/1/13, The contract prices will increase to the attached prices (5% increase).

Chris Dekat, CPPB Assistant Director – Purchasing (e-mail) cidekat@ksu.edu Phone: 785-532-6214 FAX: 785-532-5577

Description Armstrong 800 Steam Traps	Qty.	Sell Net	Ext. Sell
1/2" 20 psi 3/4" 20 psi	16 7	\$104.30 \$104.30	\$1,668.80 \$730.10
Armstrong 811 Steam Traps			·
1/2" 30 psi	2	\$137.90	\$275.80
3/4" 30 psi	11	\$137.90	\$1,516.90
3/4" 125 psi 1/2" 125 psi	5 2	\$137.90 \$137.90	\$689.50 \$275.80
Repair Kit for 811 30 psi	2 14	\$60.20	\$273.80 \$842.80
Repair Kit for 811 31250 psi	1	\$60.20	\$60.20
Gasket Kit for 814 Gasket A22183-1	1	\$8.40	\$8.40
Gasket Kit for 882 Gasket A22181-1	1	\$4.69 \$4.27	\$4.69
Armstrong Gasket A21825-1 for 811,881,800,&880	25	\$4.27	\$106.75
Armstrong 883 Repair Kit 125 psi	1	\$145.60	\$145.60
Armstrong 2011 Steam Traps			
125 psi	10	\$219.80	\$2,198.00
250 psi	5	\$219.80	\$1,099.00
Armstrong 15B3 Steam Traps	14	\$129.50	\$1,813.00
Armstrong 15B4 Steam Traps	7	\$156.10	\$1,092.70
Gasket A21958-1	1	\$4.90	\$4.90
Armstrong 15B2 Steam Traps	2	\$129.50	\$259.00
Armstrong 15B5 Steam Traps	8	\$189.00	\$1,512.00
Armstrong 15B8 Steam Traps	2	\$505.40	\$1,010.80
Gasket B5586	1	\$17.50	\$17.50
Armstrong 15A5 Steam Traps	1	\$320.60	\$320.60
Armstrong 15JD8 Steam Traps	2	\$1,091.30	\$2,182.60
Armstrong TS3 Steam Traps			
1/2" Angle Steam Traps	77	\$77.00	\$5,929.00
3/4" Angle Steam Traps	5	\$98.00	\$490.00
3/4" Offset Steam Traps	5	\$100.10	\$500.50
1/2" Offset Steam Traps	17	\$79.10	\$1,344.70
TS3 Wafers	66	\$23.10	\$1,524.60
TS3 Gaskets	66	\$0.74	\$48.51
Armstrong 30B4 Steam Traps	1	\$156.10	\$156.10
Armstrong 30A3 Steam Traps	1	\$220.50	\$220.50

IS-2 Connector with integral strainer 1/2"	4	\$149.80	\$599.20
IS-2 Connector with integral strainer 3/4"	7	\$149.80	\$1,048.60
501-H Steam Trap	1	\$2,786.39	\$2,786.39
FH 1139 Replacement Cap Assembly with Gasket	1	\$1,607.20	\$1,607.20
Armstrong Pumping Traps with Stainless Steel Check	Valves a	nd Gauge Glass	
PT-104SSCVGG	2	\$2,336.60	\$4,673.20
PT-204SSCVGG	2	\$3,024.00	\$6,048.00
PT-206SSCVGG	2	\$3,332.00	\$6,664.00
PT-308SSCVGG	2	\$5,951.40	\$11,902.80
PT-312SSCVGG	2	\$6,400.80	\$12,801.60
PT-406SSCVGG	1	\$4,566.10	\$4,566.10
PT-516SSCVGG	2	\$20,206.90	\$40,413.80

KANSAS STATE UNIVERSITY PURCHASING OFFICE 21 ANDERSON HALL MANHATTAN, KS 66506 PHONE 785-532-6214 FAX 785-532-5577

CONTRACT SIGNATURE SHEET

Date: 3/12/2012 CONTRACT NO.: 40293 Replaces Contract No.: 12185

Procurement Officer: Chris Dekat, CPPB Phone: 785-532-6214 E-Mail: cidekat@k-state.edu

 Item:
 Steam Traps & Gaskets

 Primary Using Department:
 Kansas State University -- Facilities

 Period of Contract:
 6/1/2012 through 5/3 1/2017

 Contractor Information:
 Hughes Machinery Company Inc.

 14400 College Blvd.
 Lenexa, KS 66215

 CONTACT:
 Mark Ponchur

 Phone: 800-888-0355; FAX:913-492-1420; e-mail: ponchur@hughesmachinery.com

Prices:as bid on IFB 40293Payment Terms:N30Shipping Information:Dest, Ppd & Allowed

The parties agree as follows:

1. Subject to the terms and conditions of this contract and companion bid documents, Kansas State University hereby accepts the offer of Contractor as expressed by Contractor's bid submitted to K-State Purchasing in response to above referenced contract/quote number.

2. It is understood and agreed by the parties that pursuant to the bid, Contractor agrees to furnish products or services for the period noted above on orders of the Department(s) at the price or prices contained in the bid. Department(s) agrees to pay on delivery of the item(s) the amount(s) billed by Contractor in accordance with the bid as shown on delivery invoice(s) of the Contractor to the Department(s). Payment will be made as soon after receipt of the invoice(s) as possible in accordance with state law.

3. Failure of Contractor to furnish the item(s) in accordance with the bid specifications incorporated into this contract by reference, or failure of Contractor to deliver the item(s) in accordance with any time schedules prescribed in this contract or any documents incorporated by reference into this contract shall result in forfeiture of any performance bond of Contractor and/or in termination of this contract at the option of the University.

4. It is understood and agreed that the provisions set out in the K-State Purchasing Office bid document for this contract are incorporated and made a part of this contract by reference as though fully set forth herein. Contractor agrees and understands that these documents are controlling over Contractor's bid, invoice, department order forms or any other documents of the Contractor.

5. The provisions found in Contractual Provisions Attachment, is incorporated and made a part of this contract by reference.

6. In the event of any disputes regarding the terms and conditions of this Contract or payments alleged to be due and owing, Contractor's sole remedy shall be with the Department that placed the order.

Contractor! Hughes Machinery Company Inc. Rv: MARK PSACHUR Printed Name: Title:

KANSAS STATE UNIVERSITY Rv. CARLA BISHOP DIRECTOR OF PURCHASING

c.l

Page | 12-I.F.B. No. 40293

Closing Date ______ 3/7/12

Item Steam Traps & Gaskets

.

Kansas State University

SIGNATURE SHEET

We submit a proposal to furnish requirements during the contract period in accordance with the specifications and Schedule of Supplies.

	CORPORATION Mughes Machinery Company, Inc. 800-848-0355 FAX NUMBER 913-492-1420
LEGAL NAME OF PERSON, FIRM OR	CORPORATION 19 11 CONTINUE OF DOMOPULOS, THE
TELEPHONE (TOLL FREE) NUMBER	800 888-0355 FAX NUMBER 913-492-1420
ADDRESS 14400 C	SULGE BLVD.
CITY & STATE LENEXA	1KS. ZIP CODE 66215
SS OR FEIN NUMBER	44-0589155
SIGNATURE	Marl prehr
TYPED NAME OF SIGNATURE	Mark Ponchur
TITLE	1.P Industrial BALES
DATE	2/29/12
EMAIL	ponchur@hughesmachinery.Com
If awarded a contract and purchase orders and telephone number below.	are to be directed to an address other than above, indicate mailing address
ADDRESS	
CITY & STATE	ZIP CODE
TELEPHONE (TOLL FREE) NUMBER	FAX NUMBER
E-MAIL	
41.5	

Bid Sheet All quantities are estimates only

 Unit Cost	Extended Cost
\$ <u>99,40</u> \$ <u>99.40</u>	\$_1590.40 \$695.80
\$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u>57.40</u> \$_ <u>57.40</u>	
\$ <u>7.98</u>	s <u>7.98</u>
\$ <u> </u>	\$ <u> </u>
\$ <u> 4.06</u>	\$
s <u>138.6</u> 0	s <u>138.60</u>
\$ <u>209,30</u> \$_209.30	\$ <u></u>

Armstrong 811 Steam Traps

Armstrong 800 Steam Traps

16 each 1/2" 20 PSI

7 each 3/4" 20 PSI

2 each ½" 30 PSI 11 each ¾" 30 PSI 5 each ¾" 125 PSI 2 each ½" 125 PSI 14 each Repair Kits for 811 30 PSI 1 each Repair Kits for 811 125 PSI

1 each Armstrong 814 Gasket A22183-1

<u>1 each Armstrong 882 Gasket A22181-1</u>

25 each Armstrong Gasket A21825-1 For 811,881,800&880

1 each Armstrong 883 Repair Kit 125 PSI

Armstrong 2011 Steam Traps 10 each 125 PSI 5 each 250 PSI

14 each Armstrong 15B3 Steam Traps

7 each Armstrong 15B4 Steam Traps 1 each Gasket A21958-1

2 each Armstrong 15B2 Steam Traps

8 each Armstrong 15B5 Steam Traps

2 each Armstrong 15B8 Steam Traps 1 each Gasket B5586

1 each Armstrong 15A5 Steam Traps

\$ <u>209.30</u> \$ <u>2093.00</u> \$ <u>209.30</u> \$ <u>1046.50</u> \$ <u>123.20</u> \$ <u>1724.80</u> \$ <u>148.40</u> \$ <u>1038.80</u> \$ <u>4.69</u> \$ <u>4.69</u> \$ <u>123.20</u> \$ <u>246.40</u> \$ <u>123.20</u> \$ <u>246.40</u> \$ <u>179.90</u> \$ <u>1439.20</u> \$ <u>48.80</u> \$ <u>16.30</u> \$ <u>305.20</u> \$ <u>305.20</u> <u>1491.5°</u>

2 each Armstrong 15JD8 Steam Traps	\$ 1039.50 \$ 2079.00
Armstrong TS3 Steam Traps 77 each ½" Angle Steam Traps 5 each ¾" Angle Steam Traps 5 each ¾" Offset Steam Traps 17 each ½" Offset Steam Traps 66 each TS3 Wafers 66 each TS3 Gaskets	\$ 52.50 \$ 4042.50 \$ 70.70 \$ 353.50 \$ 72.80 \$ 344.00 \$ 53.20 \$ 904.40 \$ 21.70 \$ 1432.20 \$ 0.70 \$ 46.20
1 each Armstrong 30B4 Steam Traps	\$ <u>148.40</u> \$ <u>148.40</u>
1 each Armstrong 30A3 Steam Traps	\$ 210.00 \$ 210.00
4 each IS-2 Connector with integral strainer 1/2"	\$147.00 \$ 588.0D
7 each IS-2 Connector with integral strainer 3/4"	\$ 147.00 \$ 1029.00
<u>1 each ¾" 501-SH Steam Trap</u>	\$ 2653.70 \$ 2653.70
1 each FH 1139 Replacement Cap Assembly with Gasket	\$ <u>1530.90</u> \$ <u>1530.90</u>

Armstrong Pumping Traps with Stainless Steel Check Valves and Gauge Glass

2 ea PT-104SSCVGG 2 ea PT-204SSCVGG 2 ea PT-206SSCVGG 2 ea PT-308SSCVGG 2 ea PT-312SSCVGG 1 ea PT-406SSCVGG 2 ea PT-516SSCVGG

\$ 2225.30\$ 4450.60
\$ 2880.50 \$ 5761.00
\$ 3173.10 \$ 6346.20
\$5667.20\$ 11,334.40
\$ 6102.60 \$ 12,205.20
\$ <u>4348.40\$ 4348.40</u>
\$ <u>19,244.4</u> 0 \$ <u>38,488.80</u>

Vendors are to state any applicable discount off of list price for any other Armstrong Traps and Gaskets that are not identified above:

30 % off List Price

PAYMENT TERMS: NET 30 DAYS

Vendor shall state if they will accept the Business Procurement Card (Visa Card)

Yes No____ UP to \$5,000.00

KANSAS STATE UNIVERSITY PURCHASING OFFICE 21 ANDERSON HALL MANHATTAN, KS 66506 PHONE 785-532-6214 FAX 785-532-5577

CONTRACT SIGNATURE SHEET

Date: 3/12/2012 CONTRACT NO.: 40293 Replaces Contract No.: 12185

Procurement Officer: Chris Dekat, CPPB Phone: 785-532-6214 E-Mail: cidekat@k-state.edu

 Item:
 Steam Traps & Gaskets

 Primary Using Department:
 Kansas State University -- Facilities

 Period of Contract:
 6/1/2012 through 5/3 1/2017

 Contractor Information:
 Hughes Machinery Company Inc.

 14400 College Blvd.
 Lenexa, KS 66215

 CONTACT:
 Mark Ponchur

 Phone: 800-888-0355; FAX:913-492-1420; e-mail: ponchur@hughesmachinery.com

Prices:as bid on IFB 40293Payment Terms:N30Shipping Information:Dest, Ppd & Allowed

The parties agree as follows:

1. Subject to the terms and conditions of this contract and companion bid documents, Kansas State University hereby accepts the offer of Contractor as expressed by Contractor's bid submitted to K-State Purchasing in response to above referenced contract/quote number.

2. It is understood and agreed by the parties that pursuant to the bid, Contractor agrees to furnish products or services for the period noted above on orders of the Department(s) at the price or prices contained in the bid. Department(s) agrees to pay on delivery of the item(s) the amount(s) billed by Contractor in accordance with the bid as shown on delivery invoice(s) of the Contractor to the Department(s). Payment will be made as soon after receipt of the invoice(s) as possible in accordance with state law.

3. Failure of Contractor to furnish the item(s) in accordance with the bid specifications incorporated into this contract by reference, or failure of Contractor to deliver the item(s) in accordance with any time schedules prescribed in this contract or any documents incorporated by reference into this contract shall result in forfeiture of any performance bond of Contractor and/or in termination of this contract at the option of the University.

4. It is understood and agreed that the provisions set out in the K-State Purchasing Office bid document for this contract are incorporated and made a part of this contract by reference as though fully set forth herein. Contractor agrees and understands that these documents are controlling over Contractor's bid, invoice, department order forms or any other documents of the Contractor.

5. The provisions found in Contractual Provisions Attachment, is incorporated and made a part of this contract by reference.

6. In the event of any disputes regarding the terms and conditions of this Contract or payments alleged to be due and owing, Contractor's sole remedy shall be with the Department that placed the order.

Contractor! Hughes Machinery Company Inc. Rv: MARK PSACHUR Printed Name: Title:

KANSAS STATE UNIVERSITY Rv. CARLA BISHOP DIRECTOR OF PURCHASING

c.l

Page | 12-I.F.B. No. 40293

Closing Date ______ 3/7/12

Item Steam Traps & Gaskets

.

Kansas State University

SIGNATURE SHEET

We submit a proposal to furnish requirements during the contract period in accordance with the specifications and Schedule of Supplies.

	CORPORATION Mughes Machinery Company, Inc. 800-848-0355 FAX NUMBER 913-492-1420
LEGAL NAME OF PERSON, FIRM OR	CORPORATION 19 11 CONTINUE OF DOMOPULOS, THE
TELEPHONE (TOLL FREE) NUMBER	800 888-0355 FAX NUMBER 913-492-1420
ADDRESS 14400 C	SULGE BLVD.
CITY & STATE LENEXA	1KS. ZIP CODE 66215
SS OR FEIN NUMBER	44-0589155
SIGNATURE	Marl prehr
TYPED NAME OF SIGNATURE	Mark Ponchur
TITLE	1.P Industrial BALES
DATE	2/29/12
EMAIL	ponchur@hughesmachinery.Com
If awarded a contract and purchase orders and telephone number below.	are to be directed to an address other than above, indicate mailing address
ADDRESS	
CITY & STATE	ZIP CODE
TELEPHONE (TOLL FREE) NUMBER	FAX NUMBER
E-MAIL	
41.5	

Bid Sheet All quantities are estimates only

 Unit Cost	Extended Cost
\$ <u>99,40</u> \$ <u>99.40</u>	\$_1590.40 \$695.80
\$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u> 3 .60</u> \$ <u>57.40</u> \$_ <u>57.40</u>	
\$ <u>7.98</u>	s <u>7.98</u>
\$ <u> </u>	\$ <u> </u>
\$ <u>4.06</u>	\$
s <u>138.6</u> 0	s <u>138.60</u>
\$ <u>209,30</u> \$_209.30	\$ <u></u>

Armstrong 811 Steam Traps

Armstrong 800 Steam Traps

16 each 1/2" 20 PSI

7 each 3/4" 20 PSI

2 each ½" 30 PSI 11 each ¾" 30 PSI 5 each ¾" 125 PSI 2 each ½" 125 PSI 14 each Repair Kits for 811 30 PSI 1 each Repair Kits for 811 125 PSI

1 each Armstrong 814 Gasket A22183-1

<u>1 each Armstrong 882 Gasket A22181-1</u>

25 each Armstrong Gasket A21825-1 For 811,881,800&880

1 each Armstrong 883 Repair Kit 125 PSI

Armstrong 2011 Steam Traps 10 each 125 PSI 5 each 250 PSI

14 each Armstrong 15B3 Steam Traps

7 each Armstrong 15B4 Steam Traps 1 each Gasket A21958-1

2 each Armstrong 15B2 Steam Traps

8 each Armstrong 15B5 Steam Traps

2 each Armstrong 15B8 Steam Traps 1 each Gasket B5586

1 each Armstrong 15A5 Steam Traps

\$ <u>209.30</u> <u>209.30</u> <u>209.30</u> <u>1046.50</u> \$ <u>123.20</u> <u>1724.80</u> <u>5 148.40</u> <u>5 148.40</u> <u>5 123.20</u> <u>246.40</u> <u>5 123.20</u> <u>246.40</u> <u>5 1439.20</u> <u>5 1439.20</u> <u>5 1439.20</u> <u>5 16.80</u> <u>5 16.80</u> <u>5 305.20</u> <u>1491.5°</u>

2 each Armstrong 15JD8 Steam Traps	\$ 1039.50 \$ 2079.00
Armstrong TS3 Steam Traps 77 each ½" Angle Steam Traps 5 each ¾" Angle Steam Traps 5 each ¾" Offset Steam Traps 17 each ½" Offset Steam Traps 66 each TS3 Wafers 66 each TS3 Gaskets	\$ 52.50 \$ 4042.50 \$ 70.70 \$ 353.50 \$ 72.80 \$ 344.00 \$ 53.20 \$ 904.40 \$ 21.70 \$ 1432.20 \$ 0.70 \$ 46.20
1 each Armstrong 30B4 Steam Traps	\$ <u>148.40</u> \$ <u>148.40</u>
1 each Armstrong 30A3 Steam Traps	\$ 210.00 \$ 210.00
4 each IS-2 Connector with integral strainer 1/2"	\$147.00 \$ 588.0D
7 each IS-2 Connector with integral strainer 3/4"	\$ 147.00 \$ 1029.00
<u>1 each ¾" 501-SH Steam Trap</u>	\$ 2653.70 \$ 2653.70
1 each FH 1139 Replacement Cap Assembly with Gasket	\$ <u>1530.90</u> \$ <u>1530.90</u>

Armstrong Pumping Traps with Stainless Steel Check Valves and Gauge Glass

2 ea PT-104SSCVGG 2 ea PT-204SSCVGG 2 ea PT-206SSCVGG 2 ea PT-308SSCVGG 2 ea PT-312SSCVGG 1 ea PT-406SSCVGG 2 ea PT-516SSCVGG

\$ 2225.30\$ 4450.60
\$ 2880.50 \$ 5761.00
\$ 3173.10 \$ 6346.20
\$5667.20\$ 11,334.40
\$ 6102.60 \$ 12,205.20
\$ <u>4348.40\$ 4348.40</u>
\$ <u>19,244.4</u> 0 \$ <u>38,488.80</u>

Vendors are to state any applicable discount off of list price for any other Armstrong Traps and Gaskets that are not identified above:

30 % off List Price

PAYMENT TERMS: NET 30 DAYS

Vendor shall state if they will accept the Business Procurement Card (Visa Card)

Yes No____ UP to \$5,000.00